X AN 33z 4 —_—
1 113 EE 2RBpEHRFHLE == RI 1
L} v LJ
#1: 4 Catchall(17.77) #2: 1 B[R (14.19) #3: 3 [E[#(13.23)
1 NS: =RHE SREHGH0) 7 6 NS: {5 F5RE(EC) -3 VP:| 1419 : 5.81 Total VP: 14.19 Rank:
EW: $8{—5k Mh&REAC) 3 EW: ZBA3E B IR(BAO) -7| IMP:| 35 20 2
— - .
#1 a A76 5CN-2 -100 Mean: 4HS4 420 110 1 ||#2 » Q8 2CW4 -130 Mean: 2CW4 130 6.0 1
v5 4HS-1-50 -110  4HS-1 50 20 1 v Q643 3NW5 -460 -390 3NW3 400 0.0 1
+ K84 Dif: -50 NS:0 5CN-2 4100 00 1 + KQ32 Dif: 330 NS:6 3NW4 430 1.0 1
& AKQJ63 IMP: -2 EW:-2 5CN-3 150 1.0 1 » 987 IMP: 8 EW:2 3NW5 460 2.0 2
» QJ92 #» KT843 5CXN-2 300 -50 1 [|a AJ5 s K 4SXS-2 500 -3.0 1
v Q8 v A96 5CXN-3 -500 -9.0 1 v K98 I v T75
* AQJ73 *2 ¢ 985 ¢ A74
& 52 & T874 » AQ53 & KJT642
®IVABN 4,5 oo VAN 4 TI76432
N 123~1 v KJT7432 N ~~~2~ yAJ2
S 123~1 ¢T95 S ~~~2~ ¢JT6
E ~~~3~ &9 E5~~~4 &
W ~~~3~ W 5~~~4
#3 » KJ6 2CS-1-50 Mean: 2CS-1 50 00 5 ||#4 » J8 4S5S4 620 Mean: 5CXE-3 800 4.0 1
v AT732 2CS-1-50 -50  3NXS-1 4100 20 1 v K54 3NN4 630 650 4SS5 650 0.0 1
.97 Dif: 0 NS:0 ¢ JT542 Dif: -10 NS:-1 4SS4 620 -1.0 3
& 942 IMP: 0 EW:0 & Q97 IMP: 0 EW:1 3NN4 630 1.0 1
& 8752 & AQT a K7
v KQ9 v J865 + v38
¢ AQT4 ¢ 532 + Q86
& 76 a T53 » AKT8654
oo VABN 4943 N » AQT953
N1~~~~vd 5 v AJ7
S 1~~~~ ¢KJB86 5 ¢ AK9
E ~3331 &AKQJ8 ~ aJ
W ~3331 ~
#5 » KQJ8 2SS3 140 Mean: 2SS4 170 20 1 #6 4 K9763 4HWS5 -650 Mean: 6HW-1 100 13.0 1
v T72 2SN2110 100  2SS3 140 1.0 3 v 65 4HWS5 -650 -720  3NE4 630 3.0 1
+ Q75 Dif: 30 NS:1  2SN2 110 0.0 1 ¢ T2 Dif: 0 NS:2 4HWS5 650 2.0 2
» T92 IMP: 1 EW:0 3SN-1 100 50 1 » T642 IMP: 0 EW:-2 5CXN-5 -1100 -9.0 1
s A6 s T4 a A82 & QJ5 6HW6 1430 120 1
v QJ8 v 9643 v AKQ74 — v T832
+ 98643 *AJ + AK83 * 95
& Q73 & AJ865 Q » K873
o4 VBN 497532 oOVABN o, T4
N ~~~21 vAK5 N ~~~~~ Jo
S ~~~21 ¢KT2 S ~~~~~ + QJ764
E 211~~ aK4 E ~~5~3 &AJ9
wW211~-~ W ~~5~3
#7 o J96 5SXS5850 Mean: 7CXE-4 1100 10.0 1 ||# 8 & AKJ5 3NS-4 -200 Mean: 4CS4 130 30 2
v T83 5585650 650  5SXS5 850 50 1 v6 3HE-150 40 4CN4 130 30 1
+ QT53 Dif: 200 NS:5 5SS5 650 0.0 2 + QJ52 Dif: -250 NS:-6 3HE-1 50 00 2
& K65 IMP: 5 EW:0 5CXW-2 500 -40 1 & A754 IMP: -6 EW:0 3NS-4 200 6.0 1
a7 ~ 8432 5CXW-1 200 -100 1 |[|s QT76 ~ 832
v K94 + v QJ52 v 754 v AKQ932
+ K876 ¢ ¢ AT84 * 73
& AQJ93 S » T8742 » 62 » K9
% ¢ VAN 4, AKQTS oo VAN 4,94
N ~4~42 vA76 N 42~~~ ¢JT8
S ~4~32 ¢AJ942 S 42~~~ ¢K9%
E4~~~~a E ~~1~1 &QJT83
W 4~~~-~ W ~~2~1
#9 & AK98 3NN4 430 Mean: 3NN6 490 3.0 1 # 10 4 T8632 1NE4 -180 Mean: 1NE4 180 80 1
v T9532 3NN4 430 390 3NS5 460 20 1 v 985 3NE3 -600 -540 3NE3 600 -2.0 3
*J4 Dif: 0 NS:1 3NS4 430 1.0 1 ¢ 93 Dif: 420 NS:8 3NE4 630 -3.0 2
» Q3 IMP: 0 EW:-1 3NN4 430 1.0 2 & Ad42 IMP: 9 EW:2
& QJT65 a2 2DS5 150 6.0 1 ||a KQ7 » A94
v Q86 v AJ74 v AQT7 _I_ v J64
¢ 73 + 9865 + 8762 + AQ5
& 964 » K872 » 87 » QJ93
F*¢VABN 4,743 o ¢VABN 4 J5
N ~5~44 vK N ~~~~~ v K32
S ~ 5~ 44 ¢ AKQT2 S ~~~~~ * KJT4
E ~~~~~ * AJT5 E ~23~3 &KT65
W ~~~~~ W ~22~2
# 11 » 532 2HE2 -110 Mean: 2CE-4 200 60 1 ||#12 » K43 4HS-1-100 Mean: 4HS4 620 11.0 1
v A5 2HE2 110 -50  2HE2 110 -20 5 v Q954 4HS4 620 100  3HN3 140 10 2
+ AKQ6 Dif: 0 NS:-2 + A9 Dif: -720 NS:-5 4HS-1 100 -5.0 1
& KQ82 IMP: 0 EW:2 & AK62 IMP: -12 EW:-11 4HN-1 4100 -5.0 1
& AQT6 ~ K8 ~ AQJ962 a5 3HN-1 100 -5.0 1
v KT92 v J864 v K | v 86
¢ 982 ¢ J74 + QJ86 ¢ K7532
& 54 » AJ97 & JT » Q8753
B VAN ,J974 oo VAN o, T87
N ~~~~~ v Q73 N ~~3~3 v AJT732
S ~~~~~ ¢ T53 S ~~3~3 ¢T4
E ~~2~1 &T63 E 13~1~ a9
W ~~2~1 W 13~1~
#13 & KJ8732 4HW-1 100 Mean: 4SXN4 790 11.0 2 ||# 14 4 AJ952 5CW5 -400 Mean: 5CW5 400 1.0 1
w7 4HE4 -620 210  4HW-1 100 -30 3 v J86 3NE3 -400 -430 3NE3 400 1.0 1
+ QT982 Dif: 720 NS:-3 4HE4 620 -13.0 1 + K97 Dif: 0 NS:1 3NE4 430 0.0 2
»3 IMP: 12 EW:13 » J8 IMP: 0 EW:-1 3NE5 460 1.0 1
Q96 \ a AT & Q743 & K86 3NE6 490 20 1
v AQ843 v K965 v K74 v ATS
5 + + K76 * JT2 + AQ
& Q975 &» KJT6 » QT4 & AK753
¢ VABN 4,54 FOVABN ,T
N ~4~3~ 9JT2 N ~~~~~ v Q932
S ~4~3~ ¢AJA3 S ~~~~~ + 86543
E 3~3~~ 4A842 E 5~~35 4962
W 3~3~-~ W 5~~35




X AN 33z 4 —_—
1 113 EE 2RBpEHRFHLE == RI 1
L} v LJ
#1: 4 Catchall(17.77) #2: 1 B[R (14.19) #3: 3 [E[#(13.23)
2 NS: BEssE BREIR(GHO) -13 4 NS: BREAEE S32{_(BAC) 24 VP:| 2.23 17.77| Total VP: 2.23 Rank:
EW: 27 SEEsEIC) -24 EW: [RES) BRH#E£(BAO) 13 IMP:| 12 a7 6
— -
#1 a A76 4HS4 420 Mean: 4HS4 420 110 1 ||#2 » Q8 4SXS-2 -500 Mean: 2CW4 130 6.0 1
v5 5CN-3 -150 -110  4HS-1 50 20 1 v Q643 3NW3 -400 -390 3NW3 400 0.0 1
+ K84 Dif: 570 NS:11 5CN-2 4100 00 1 + KQ32 Dif: -100 NS:-3 3NW4 430 1.0 1
& AKQJ63 IMP: 11 EW:1  5CN-3 150 1.0 1 » 987 IMP: -3 EW:0 3NW5 460 2.0 2
» QJ92 #» KT843 5CXN-2 300 -50 1 [|a AJ5 s K 4SXS-2 500 -3.0 1
v Q8 v A96 5CXN-3 -500 -9.0 1 v K98 I v T75
* AQJ73 *2 ¢ 985 ¢ A74
& 52 & T874 » AQ53 & KJT642
®IVABN 4,5 oo VAN 4 TI76432
N 123~1 v KJT7432 N ~~~2~ yAJ2
S 123~1 ¢T95 S ~~~2~ ¢JT6
E ~~~3~ &9 E5~~~4 &
W ~~~3~ W 5~~~4
#3 » KJ6 2CS-1-50 Mean: 2CS-1 50 00 5 ||#4 » J8 4S5S4 620 Mean: 5CXE-3 800 4.0 1
v AT732 2CS-1-50 -50  3NXS-1 4100 20 1 v K54 5CXE-3 800 650 4SS5 650 0.0 1
.97 Dif: 0 NS:0 ¢ JT542 Dif: -180 NS:-1 4SS4 620 -1.0 3
& 942 IMP: 0 EW:0 & Q97 IMP: -5 EW:-4 3NN4 630 1.0 1
& 8752 & AQT a K7
v KQ9 v J865 + v38
¢ AQT4 ¢ 532 + Q86
& 76 a T53 » AKT8654
oo VABN 4943 N » AQT953
N1~~~~vd 5 v AJ7
S 1~~~~ ¢KJB86 5 ¢ AK9
E ~3331 &AKQJ8 ~ aJ
W ~3331 ~
#5 » KQJ8 3SN-1-100 Mean: 2SS4 170 20 1 #6 4 K9763 5CXN-5-1100 Mean: 6HW-1 100 13.0 1
v T72 2SS4 170 100  2SS3 140 1.0 3 v 65 3NE4 -630 -720  3NE4 630 3.0 1
+ Q75 Dif: -270 NS:-5 2SN2 110 0.0 1 ¢ T2 Dif: -470 NS:-9 4HW5 650 2.0 2
» T92 IMP: -7 EW:-2 3SN-1 100 50 1 » T642 IMP: -10 EW:-3 5CXN-5 -1100 -9.0 1
s A6 s T4 a A82 & QJ5 6HW6 1430 120 1
v QJ8 v 9643 v AKQ74 — v T832
+ 98643 *AJ + AK83 * 95
& Q73 & AJ865 Q » K873
o4 VBN 497532 oOVABN o, T4
N ~~~21 vAK5 N ~~~~~ Jo
S ~~~21 ¢KT2 S ~~~~~ + QJ764
E 211~~ aK4 E ~~5~3 &AJ9
wW211~-~ W ~~5~3
#7 o J96 5CXW-1200 Mean: 7CXE-4 1100 100 1 [|# 8 & AKJ5 4CS4 130 Mean: 4CS4 130 30 2
v T83 5CXW-2 500 650 5SXS5 850 50 1 v 6 4CS4130 40  4CN4 130 30 1
+ QT53 Dif: -300 NS:-10 5SS5 650 0.0 2 + QJ52 Dif: 0 NS:3 3HE-1 50 00 2
& K65 IMP: -7 EW:4 5CXW-2 500 -40 1 & A754 IMP: 0 EW:-3 3NS-4 200 6.0 1
a7 ~ 8432 5CXW-1 200 -100 1 |[|s QT76 ~ 832
v Kod + v QJ52 v 754 v AKQ932
+ K876 ¢ ¢ AT84 * 73
& AQJ93 S » T8742 » 62 » K9
% ¢ VAN 4, AKQTS oo VAN 4,94
N ~4~42 vA76 N 42~~~ ¢JT8
S ~4~32 ¢AJ942 S 42~~~ ¢ K9%
E4~~~~a E ~~1~1 &QJT83
W4~~~~ W ~~2~1
#9 & AK98 2DS5 150 Mean: 3NN6 490 3.0 1 # 10 4 T8632 3NE3 -600 Mean: 1NE4 180 80 1
v T9532 3NS5460 390 3NS5 460 20 1 v 985 3NE4 -630 -540 3NE3 600 -2.0 3
*J4 Dif: -310 NS:-6 3NS4 430 1.0 1 ¢ 93 Dif: 30 NS:-2 3NE4 630 -3.0 2
» Q3 IMP: -7 EW:-2 3NN4 430 1.0 2 & Ad42 IMP: 1 EW:3
& QJT65 a2 2DS5 150 6.0 1 ||a KQ7 » A94
v Q86 v AJ74 v AQT7 _I_ v J64
¢ 73 + 9865 + 8762 + AQ5
& 964 » K872 » 87 » QJ93
F*¢VABN 4,743 o ¢VABN 4 J5
N ~5~44 9K N ~~~~~ v K32
S ~ 5~ 44 ¢ AKQT2 S ~~~~~ * KJT4
E ~~~~~ & AJTS5 E ~23~3 &KT65
W ~~~~~ W ~22~2
# 11 » 532 2HE2 -110 Mean: 2CE-4 200 60 1 ||#12 » K43 3HN3 140 Mean: 4HS4 620 11.0 1
v A5 2CE-4200 -50 2HE2 110 20 5 v Q954 3HN3 140 100  3HN3 140 1.0 2
+ AKQ6 Dif: -310 NsS:-2 + A9 Dif: 0 NS:1 4HS-1 100 -5.0 1
& KQ82 IMP: -7 EW:-6 & AK62 IMP: 0 EW:-1 4HN-1 4100 -5.0 1
& AQT6 ~ K8 ~ AQJ962 a5 3HN-1 100 -5.0 1
v KT92 v J864 v K | v 86
¢ 982 ¢ J74 + QJ86 ¢ K7532
& 54 » AJ97 & JT » Q8753
B VAN ,J974 oo VAN o, T87
N ~~~~~ v Q73 N ~~3~3 v AJT732
S ~~~~~ ¢ T53 S ~~3~3 ¢T4
E ~~2~1 &T63 E 13~1~ a9
W~~2~1 W 13-~1-~
#13 & KJ8732 4SXN4 790 Mean: 4SXN4 790 11.0 2 ||# 14 4 AJ952 3NE5 -460 Mean: 5CW5 400 1.0 1
w7 4SXN4790 210  4HW-1 100 -30 3 v J86 3NE4 -430 -430 3NE3 400 1.0 1
+ QT982 Dif: 0 NS:11 4HE4 620 -13.0 1 + K97 Dif: -30 NS:-1 3NE4 430 0.0 2
»3 IMP: 0 EW:-11 » J8 IMP: -1 EW:0 3NE5 460 1.0 1
Q96 \ a AT & Q743 & K86 3NE6 490 20 1
v AQ843 v K965 v K74 v ATS
5 + + K76 * JT2 + AQ
& Q975 &» KJT6 » QT4 & AK753
¢ VABN 4,54 FOVABN ,T
N ~4~3~ 9JT2 N ~~~~~ v Q932
S ~4~3~ ¢AJA3 S ~~~~~ + 86543
E 3~3~~ 4A842 E 5~~35 4962
W 3~3~-~ W 5~~35




X AN 33z 4 —_—
1 113 EE 2RBpEHRFHLE == RI 1
L} v LJ
#1: 4 Catchall(17.77) #2: 1 B[R (14.19) #3: 3 [E[#(13.23)
3 NS: #iz¥E BEEBHGEO) -5 5 NS: ZBigs]l FBII5(BAC) -22 VP:| 13.23 : 6.77 Total VP: 13.23 Rank:
EW: BREET B FEEIC) 22 EW: BiE#E SHE(B0) 5 IMP:| 27 16 3
— -
#1 a A76 5CXN-2 -300 Mean: 4HS4 420 110 1 ||#2 » Q8 3NW4 -430 Mean: 2CW4 130 6.0 1
v5 5CXN-3 -500 -110  4HS-1 50 20 1 v Q643 3NW5 -460 -390 3NW3 400 0.0 1
+ K84 Dif: 200 NS:-5 5CN-2 4100 00 1 + KQ32 Dif: 30 NS:-1  3NW4 430 1.0 1
& AKQJ63 IMP: 5 EW:9 5CN-3 150 1.0 1 » 987 IMP: 1 EW:2 3NW5 460 2.0 2
» QJ92 #» KT843 5CXN-2 300 -50 1 [|a AJ5 s K 4SXS-2 500 -3.0 1
v Q8 v A96 5CXN-3 -500 -9.0 1 v K98 I v T75
* AQJ73 *2 ¢ 985 ¢ A74
& 52 & T874 » AQ53 & KJT642
®IVABN 4,5 oo VAN 4 TI76432
N 123~1 v KJT7432 N ~~~2~ yAJ2
S 123~1 ¢T95 S ~~~2~ ¢JT6
E ~~~3~ &9 E5~~~4 &
W ~~~3~ W 5~~~4
#3 » KJ6 2CS-1-50 Mean: 2CS-1 50 00 5 ||#4 » J8 4S5S4 620 Mean: 5CXE-3 800 4.0 1
v AT732 3NXS-1-100 -50  3NXS-1 4100 20 1 v K54 4SS5 650 650 4SS5 650 0.0 1
.97 Dif: 50 NS:0 ¢ JT542 Dif: -30 NS:-1 4SS4 620 -1.0 3
& 942 IMP: 2 EW:2 & Q97 IMP: -1 EW:0 3NN4 630 1.0 1
& 8752 & AQT a K7
v KQ9 v J865 + v38
¢ AQT4 ¢ 532 + Q86
& 76 a T53 » AKT8654
oo VABN 4943 N » AQT953
N1~~~~vd 5 v AJ7
S 1~~~~ ¢KJB86 5 ¢ AK9
E ~3331 &AKQJ8 ~ aJ
W ~3331 ~
#5 » KQJ8 2SS3 140 Mean: 2SS4 170 20 1 #6 4 K9763 6HW-1 100 Mean: 6HW-1 100 13.0 1
v T72 2SS3 140 100  2SS3 140 1.0 3 v 65 6HWG6 -1430 -720  3NE4 630 3.0 1
+ Q75 Dif: 0 NS:1  2SN2 110 0.0 1 ¢ T2 Dif: 1530 NS:13  4HW5 650 2.0 2
» T92 IMP: 0 EW:-1  3SN-1 100 50 1 » T642 IMP: 17 EW:12 5CXN-5 -1100 -9.0 1
s A6 s T4 a A82 & QJ5 6HW6 1430 120 1
v QJ8 v 9643 v AKQ74 — v T832
+ 98643 *AJ + AK83 * 95
& Q73 & AJ865 Q » K873
o4 VBN 497532 oOVABN o, T4
N ~~~21 vAK5 N ~~~~~ J9
S ~~~21 ¢KT2 S ~~~~~ + QJ764
E 211~~ aK4 E ~~5~3 &AJ9
wW211~-~ W ~~5~3
#7 » J96 58S5 650 Mean: 7CXE-4 1100 10.0 1 [|# 8 & AKJ5 3HE-1 50 Mean: 4CS4 130 30 2
v T83 7CXE-41100 650  5SXS5 850 50 1 v 6 4CN4 130 40  4CN4 130 3.0 1
+ QT53 Dif: -450 NS:0 5SS5 650 0.0 2 + QJ52 Dif: -80 NS:0 3HE-1 50 00 2
& K65 IMP: -10 EW:-10 5CXW-2 500 -4.0 1 & A754 IMP: -2 EW:-3 3NS-4 200 6.0 1
a7 ~ 8432 5CXW-1 200 -100 1 |[|s QT76 ~ 832
v Kod + v QJ52 v 754 v AKQ932
+ K876 ¢ ¢ AT84 * 73
& AQJ93 S » T8742 » 62 » K9
% ¢ VAN o, AKQTS oo VAN 4,94
N ~4~42 vA76 N 42~~~ ¢JT8
S ~4~32 ¢AJ942 S 42~~~ ¢ K9%
E4~~~~a E ~~1~1 &QJT83
W4~~~~ W ~~2~1
#9 » AK98 3NN6 490 Mean: 3NN6 490 3.0 1 |(|#10 # T8632 3NE4 -630 Mean: 1NE4 180 80 1
v T9532 3NS4430 390 3NS5 460 20 1 v 985 3NE3 -600 -540 3NE3 600 -2.0 3
*J4 Dif: 60 NS:3 3NS4 430 1.0 1 ¢ 93 Dif: -30 NsS:-3 3NE4 630 -3.0 2
» Q3 IMP: 2 EW:-1  3NN4 430 1.0 2 & Ad42 IMP: -1 EW:2
& QJT65 a2 2DS5 150 6.0 1 ||a KQ7 » A94
v Q86 v AJ74 v AQT7 _I_ v J64
¢ 73 + 9865 + 8762 + AQ5
& 964 » K872 » 87 » QJ93
F*¢VABN 4,743 o ¢VABN 4 J5
N ~5~44 9K N ~~~~~ v K32
S ~ 5~ 44 ¢ AKQT2 S ~~~~~ * KJT4
E ~~~~~ & AJTS5 E ~23~3 &KT65
W ~~~~~ W ~22~2
# 11 » 532 2HE2 -110 Mean: 2CE-4 200 60 1 ||#12 » K43 3HN-1-100 Mean: 4HS4 620 11.0 1
v A5 2HE2 110 -50  2HE2 110 -20 5 v Q954 4HN-1 100 100  3HN3 140 10 2
+ AKQ6 Dif: 0 NS:-2 + A9 Dif: 0 NS:-5 4HS-1 100 -5.0 1
& KQ82 IMP: 0 EW:2 & AK62 IMP: 0 EW:5 4HN-1 4100 -5.0 1
& AQT6 ~ K8 ~ AQJ962 a5 3HN-1 100 -5.0 1
v KT92 v J864 v K | v 86
¢ 982 ¢ J74 + QJ86 ¢ K7532
& 54 » AJ97 & JT » Q8753
B VAN ,J974 oo VAN o, T87
N ~~~~~ v Q73 N ~~3~3 v AJT732
S ~~~~~ ¢ T53 S ~~3~3 ¢T4
E ~~2~1 &T63 E 13~1~ a9
W~~2~1 W 13-~1-~
#13 & KJ8732 4HW-1 100 Mean: 4SXN4 790 11.0 2 ||# 14 4 AJ952 3NE6 -490 Mean: 5CW5 400 1.0 1
w7 4HW-1100 210  4HW-1 100 -30 3 v J86 3NE4 -430 -430 3NE3 400 1.0 1
+ QT982 Dif: 0 NS:-3 4HE4 620 -13.0 1 + K97 Dif: -60 NS:-2 3NE4 430 0.0 2
»3 IMP: 0 EW:3 » J8 IMP: -2 EW:0 3NE5 460 1.0 1
Q96 \ a AT & Q743 & K86 3NE6 490 20 1
v AQ843 v K965 v K74 v ATS
5 + + K76 * JT2 + AQ
& Q975 &» KJT6 » QT4 & AK753
¢ VABN 4,54 FOVABN ,T
N ~4~3~ 9JT2 N ~~~~~ v Q932
S ~4~3~ ¢AJA3 S ~~~~~ + 86543
E 3~3~~ 4A842 E 5~~35 4962
W 3~3~-~ W 5~~35




X AN 33z 4 —_—
1 113 EE 2RBpEHRFHLE == RI 1
L} v LJ
#1: 4 Catchall(17.77) #2: 1 B[R (14.19) #3: 3 [E[#(13.23)
4 NS: BR2ESH = (EHC) 24 2 NS: BREHT BREI5(BAO) -13 VP:| 17.77 : 2.23 Total VP: 17.77 Rank:
EW: BREEE) BRiRi&(BE0) 13 EW: 25 BEE(BAC) -2 IMP:| 47 12 1
— -
#1 a A76 4HS4 -420 Mean: 4HS4 420 110 1 ||#2 » Q8 4SXS-2 500 Mean: 2CW4 130 6.0 1
v5 5CN-3150 -110  4HS-1 50 20 1 v Q643 3NW3 400 -390 3NW3 400 0.0 1
+ K84 Dif: -570 NS:-1 5CN-2 4100 00 1 + KQ32 Dif: 100 NS:0 3NW4 430 1.0 1
& AKQJ63 IMP: -11 EW:-11 5CN-3 150 1.0 1 » 987 IMP: 3 EW:3 3NW5 460 2.0 2
» QJ92 #» KT843 5CXN-2 300 -50 1 [|a AJ5 s K 4SXS-2 500 -3.0 1
v Q8 v A96 5CXN-3 -500 -9.0 1 v K98 I v T75
* AQJ73 *2 ¢ 985 ¢ A74
& 52 & T874 » AQ53 & KJT642
®IVABN 4,5 oo VAN 4 TI76432
N 123~1 v KJT7432 N ~~~2~ yAJ2
S 123~1 ¢T95 S ~~~2~ ¢JT6
E ~~~3~ &9 E5~~~4 &
W ~~~3~ W 5~~~4
#3 » KJ6 2CS-150 Mean: 2CS-1 50 00 5 ||#4 » J8 4S5S4 -620 Mean: 5CXE-3 800 4.0 1
v AT732 2CS-150 -50  3NXS-1 4100 20 1 v K54 5CXE-3 -800 650 4SS5 650 0.0 1
.97 Dif: 0 NS:0 ¢ JT542 Dif: 180 NS:4 4SS4 620 -1.0 3
& 942 IMP: 0 EW:0 & Q97 IMP: 5 EW:1 3NN4 630 1.0 1
& 8752 & AQT a K7
v KQ9 v J865 + v38
¢ AQT4 ¢ 532 + Q86
& 76 a T53 » AKT8654
oo VABN 4943 N » AQT953
N1~~~~vd 5 v AJ7
S 1~~~~ ¢KJB86 5 ¢ AK9
E ~3331 &AKQJ8 ~ aJ
W ~3331 ~
#5 » KQJ8 3SN-1 100 Mean: 2SS4 170 20 1 #6 4 K9763 5CXN-51100 Mean: 6HW-1 100 13.0 1
v T72 2SS4 -170 100  2SS3 140 1.0 3 v 65 3NE4 630 -720 3NE4 630 3.0 1
+ Q75 Dif: 270 NS:2 2SN2 110 0.0 1 ¢ T2 Dif: 470 NS:3 4HW5 650 2.0 2
» T92 IMP: 7 EW:5 3SN-1 100 50 1 » T642 IMP: 10 EW:9 5CXN-5 -1100 -9.0 1
s A6 s T4 a A82 & QJ5 6HW6 1430 120 1
v QJ8 v 9643 v AKQ74 — v T832
+ 98643 *AJ + AK83 * 95
& Q73 & AJ865 Q » K873
o4 VBN 497532 oOVABN o, T4
N ~~~21 vAK5 N ~~~~~ Jo
S ~~~21 ¢KT2 S ~~~~~ + QJ764
E 211~~ aK4 E ~~5~3 &AJ9
wW211~-~ W ~~5~3
#7 o J96 5CXW-1-200 Mean: 7CXE-4 1100 100 1 [|# 8 & AKJ5 4CS4 -130 Mean: 4CS4 130 30 2
v T83 5CXW-2 -500 650 5SXS5 850 50 1 v6 4CS4-130 40  4CN4 130 30 1
+ QT53 Dif: 300 NS:-4 5SS5 650 0.0 2 + QJ52 Dif: 0 NS:3 3HE-1 50 00 2
& K65 IMP: 7 EW:10 5CXW-2 500 -40 1 & A754 IMP: 0 EW:-3 3NS-4 200 6.0 1
a7 ~ 8432 5CXW-1 200 -100 1 |[|s QT76 ~ 832
v Kod + v QJ52 v 754 v AKQ932
+ K876 ¢ ¢ AT84 * 73
& AQJ93 S » T8742 » 62 » K9
% ¢ VAN 4, AKQTS oo VAN 4,94
N ~4~42 vA76 N 42~~~ ¢JT8
S ~4~32 ¢AJ942 S 42~~~ ¢ K9%
E4~~~~a E ~~1~1 &QJT83
W4~~~~ W ~~2~1
#9 & AK98 2DS5 -150 Mean: 3NN6 490 3.0 1 # 10 4 T8632 3NE3 600 Mean: 1NE4 180 80 1
v T9532 3NS5-460 390 3NS5 460 20 1 v 985 3NE4 630 -540 3NE3 600 -2.0 3
*J4 Dif: 310 NS:2 3NS4 430 1.0 1 ¢ 93 Dif: -30 NsS:-3 3NE4 630 -3.0 2
» Q3 IMP: 7 EW:6 3NN4 430 1.0 2 & Ad42 IMP: -1 EW:2
& QJT65 a2 2DS5 150 6.0 1 ||a KQ7 » A94
v Q86 v AJ74 v AQT7 _I_ v J64
¢ 73 + 9865 + 8762 + AQ5
& 964 » K872 » 87 » QJ93
F*¢VABN 4,743 o ¢VABN 4 J5
N ~5~44 vK N ~~~~~ v K32
S ~ 5~ 44 ¢ AKQT2 S ~~~~~ * KJT4
E ~~~~~ * AJT5 E ~23~3 &KT65
W ~~~~~ W ~22~2
# 11 » 532 2HE2 110 Mean: 2CE-4 200 60 1 ||#12 » K43 3HN3 -140 Mean: 4HS4 620 11.0 1
v A5 2CE-4-200 -50 2HE2 110 -20 5 v Q954 3HN3 -140 100  3HN3 140 10 2
+ AKQ6 Dif: 310 NS:6 + A9 Dif: 0 NS:1 4HS-1 100 -5.0 1
& KQ82 IMP: 7 EW:2 & AK62 IMP: 0 EW:-1 4HN-1 4100 -5.0 1
& AQT6 ~ K8 ~ AQJ962 a5 3HN-1 100 -5.0 1
v KT92 v J864 v K | v 86
¢ 982 ¢ J74 + QJ86 ¢ K7532
& 54 » AJ97 & JT » Q8753
B VAN ,J974 oo VAN o, T87
N ~~~~~ v Q73 N ~~3~3 v AJT732
S ~~~~~ ¢ T53 S ~~3~3 ¢T4
E ~~2~1 &T63 E 13~1~ a9
W ~~2~1 W 13~1~
#13 & KJ8732 4SXN4 -790 Mean: 4SXN4 790 11.0 2 ||# 14 4 AJ952 3NE5 460 Mean: 5CW5 400 1.0 1
w7 4SXN4 -790 210  4HW-1 100 -30 3 v J86 3NE4 430 -430 3NE3 400 1.0 1
+ QT982 Dif: 0 NS:11 4HE4 620 -13.0 1 + K97 Dif: 30 NS:0 3NE4 430 0.0 2
»3 IMP: 0 EW:-11 » J8 IMP: 1 EW:1 3NE5 460 1.0 1
Q96 \ a AT & Q743 & K86 3NE6 490 20 1
v AQ843 v K965 v K74 v ATS
5 + + K76 * JT2 + AQ
& Q975 &» KJT6 » QT4 & AK753
¢ VABN 4,54 FOVABN ,T
N ~4~3~ 9JT2 N ~~~~~ v Q932
S ~4~3~ ¢AJA3 S ~~~~~ + 86543
E 3~3~~ 4A842 E 5~~35 4962
W 3~3~-~ W 5~~35




X AN 33z 4 —_—
1 113 EE 2RBpEHRFHLE == RI 1
L} v LJ
#1: 4 Catchall(17.77) #2: 1 B[R (14.19) #3: 3 [E[#(13.23)
5 NS: F3Esl EILEIEAC) -22 3 NS: #iR#2 BRER(FIO) -5 VP:| 6.77 13.23| Total VP: 6.77 Rank:
EW: EiEHE =A== EI0) 5 EW: BRi&T 13AREE(BAC) 22 IMP:| 16 27 4
— -
#1 a A76 5CXN-2 300 Mean: 4HS4 420 110 1 ||#2 » Q8 3NW4 430 Mean: 2CW4 130 6.0 1
v5 5CXN-3 500 -110  4HS-1 50 20 1 v Q643 3NW5 460 -390 3NW3 400 0.0 1
+ K84 Dif: -200 NS:-9 5CN-2 4100 00 1 + KQ32 Dif: -30 NS:-2 3NW4 430 1.0 1
& AKQJ63 IMP: -5 EW:5 5CN-3 150 1.0 1 » 987 IMP: -1 EW:1  3NW5 460 2.0 2
» QJ92 #» KT843 5CXN-2 300 -50 1 [|a AJ5 s K 4SXS-2 500 -3.0 1
v Q8 v A96 5CXN-3 -500 -9.0 1 v K98 I v T75
* AQJ73 *2 ¢ 985 ¢ A74
& 52 & T874 » AQ53 & KJT642
®IVABN 4,5 oo VAN 4 TI76432
N 123~1 v KJT7432 N ~~~2~ yAJ2
S 123~1 ¢T95 S ~~~2~ ¢JT6
E ~~~3~ &9 E5~~~4 &
W ~~~3~ W 5~~~4
#3 » KJ6 2CS-150 Mean: 2CS-1 50 00 5 ||#4 » J8 4S5S4 -620 Mean: 5CXE-3 800 4.0 1
v AT732 3NXS-1100 -50  3NXS-1 4100 20 1 v K54 4SS5 -650 650 4SS5 650 0.0 1
.97 Dif: -50 NS:-2 ¢ JT542 Dif: 30 NsS:0 4SS4 620 -1.0 3
& 942 IMP: -2 EW:0 & Q97 IMP: 1 EW:1 3NN4 630 1.0 1
& 8752 & AQT a K7
v KQ9 v J865 + v38
¢ AQT4 ¢ 532 + Q86
& 76 a T53 » AKT8654
oo VABN 4943 N » AQT953
N1~~~~vd 5 v AJ7
S 1~~~~ ¢KJB86 5 ¢ AK9
E ~3331 &AKQJ8 ~ aJ
W ~3331 ~
#5 » KQJ8 2SS3 -140 Mean: 2SS4 170 20 1 #6 4 K9763 6HW-1 -100 Mean: 6HW-1 100 13.0 1
v T72 2SS3 -140 100  2SS3 140 1.0 3 v 65 6HW6 1430 -720 3NE4 630 3.0 1
+ Q75 Dif: 0 NS:1  2SN2 110 0.0 1 ¢ T2 Dif: 1530 NS:-12 4HW5 650 2.0 2
» T92 IMP: 0 EW:-1  3SN-1 100 50 1 » T642 IMP: -17 EW:-13 5CXN-5  -1100 -9.0 1
s A6 s T4 a A82 & QJ5 6HW6 1430 120 1
v QJ8 v 9643 v AKQ74 — v T832
+ 98643 *AJ + AK83 * 95
& Q73 & AJ865 Q » K873
o4 VBN 497532 oOVABN o, T4
N ~~~21 vAK5 N ~~~~~ Jo
S ~~~21 ¢KT2 S ~~~~~ + QJ764
E 211~~ aK4 E ~~5~3 &AJ9
wW211~-~ W ~~5~3
#7 » J96 5885 -650 Mean: 7CXE-4 1100 100 1 ||# 8 & AKJ5 3HE-1-50 Mean: 4CS4 130 30 2
v T83 7CXE-4 -1100 650  5SXS5 850 50 1 v 6 4CN4 -130 40  4CN4 130 3.0 1
+ QT53 Dif: 450 NS:10 5SS5 650 0.0 2 + QJ52 Dif: 80 NS:3 3HE-1 50 00 2
& K65 IMP: 10 EW:0 5CXW-2 500 -40 1 & A754 IMP: 2 EW:0 3NS-4 200 6.0 1
a7 ~ 8432 5CXW-1 200 -100 1 |[|s QT76 ~ 832
v Kod + v QJ52 v 754 v AKQ932
+ K876 ¢ ¢ AT84 * 73
& AQJ93 S » T8742 » 62 » K9
% ¢ VAN 4, AKQTS oo VAN 4,94
N ~4~42 vA76 N 42~~~ ¢JT8
S ~4~32 ¢AJ942 S 42~~~ ¢ K9%
E4~~~~a E ~~1~1 &QJT83
W4~~~~ W ~~2~1
#9 & AK98 3NN6 -490 Mean: 3NN6 490 3.0 1 # 10 4 T8632 3NE4 630 Mean: 1NE4 180 80 1
v T9532 3NS4 -430 390 3NS5 460 20 1 v 985 3NE3 600 -540 3NE3 600 -2.0 3
*J4 Dif: -60 NS:1  3NS4 430 1.0 1 ¢ 93 Dif: 30 NS:-2 3NE4 630 -3.0 2
» Q3 IMP: -2 EW:-3 3NN4 430 1.0 2 & Ad42 IMP: 1 EW:3
& QJT65 a2 2DS5 150 6.0 1 ||a KQ7 » A94
v Q86 v AJ74 v AQT7 _I_ v J64
¢ 73 + 9865 + 8762 + AQ5
& 964 » K872 » 87 » QJ93
F*¢VABN 4,743 o ¢VABN 4 J5
N ~5~44 vK N ~~~~~ v K32
S ~ 5~ 44 ¢ AKQT2 S ~~~~~ * KJT4
E ~~~~~ * AJT5 E ~23~3 &KT65
W ~~~~~ W ~22~2
# 11 » 532 2HE2 110 Mean: 2CE-4 200 60 1 ||#12 » K43 3HN-1 100 Mean: 4HS4 620 11.0 1
v A5 2HE2 110 -50 2HE2 110 -20 5 v Q954 4HN-1 100 100  3HN3 140 10 2
+ AKQ6 Dif: 0 NS:-2 + A9 Dif: 0 NS:-5 4HS-1 100 -5.0 1
& KQ82 IMP: 0 EW:2 & AK62 IMP: 0 EW:5 4HN-1 4100 -5.0 1
& AQT6 ~ K8 ~ AQJ962 a5 3HN-1 100 -5.0 1
v KT92 v J864 v K | v 86
¢ 982 ¢ J74 + QJ86 ¢ K7532
& 54 » AJ97 & JT » Q8753
B VAN ,J974 oo VAN o, T87
N ~~~~~ v Q73 N ~~3~3 v AJT732
S ~~~~~ ¢ T53 S ~~3~3 ¢T4
E ~~2~1 &T63 E 13~1~ a9
W ~~2~1 W 13~1~
#13 & KJ8732 4HW-1 -100 Mean: 4SXN4 790 11.0 2 ||# 14 4 AJ952 3NE6 490 Mean: 5CW5 400 1.0 1
w7 4HW-1-100 210  4HW-1 100 -30 3 v J86 3NE4 430 -430 3NE3 400 1.0 1
+ QT982 Dif: 0 NS:-3 4HE4 620 -13.0 1 + K97 Dif: 60 NS:0 3NE4 430 0.0 2
»3 IMP: 0 EW:3 » J8 IMP: 2 EW:2 3NE5 460 1.0 1
Q96 \ a AT & Q743 & K86 3NE6 490 20 1
v AQ843 v K965 v K74 v ATS
5 + + K76 * JT2 + AQ
& Q975 &» KJT6 » QT4 & AK753
¢ VABN 4,54 FOVABN ,T
N ~4~3~ 9JT2 N ~~~~~ v Q932
S ~4~3~ ¢AJA3 S ~~~~~ + 86543
E 3~3~~ 4A842 E 5~~35 4962
W 3~3~-~ W 5~~35




X AN 33z 4 —_—
1 113 EE 2RBpEHRFHLE == RI 1
L} v LJ
#1: 4 Catchall(17.77) #2: 1 B[R (14.19) #3: 3 [E[#(13.23)
6 NS: fal 5 Z5£EEAC) -3 1 NS: E}8 RRFR(FH0) 7 VP:| 5.81 14.19| Total VP: 5.81 Rank:
EW: RHEEE %EBEEBEHO) -7 EW: §E{_# MER(BAC) 3 IMP:| 20 35 5
— -
#1 a A76 5CN-2 100 Mean: 4HS4 420 110 1 ||#2 » Q8 2CW4 130 Mean: 2CW4 130 6.0 1
v5 4HS-150 -110  4HS- 50 20 1 v Q643 3NW5 460 -390 3NW3 400 0.0 1
+ K84 Dif: 50 NS:2 5CN-2 4100 00 1 + KQ32 Dif: -330 NS:-2 3NW4 430 1.0 1
& AKQJ63 IMP: 2 EW:0 5CN-3 150 1.0 1 » 987 IMP: -8 EW:-6 3NW5 460 2.0 2
» QJ92 #» KT843 5CXN-2 300 -50 1 [|a AJ5 s K 4SXS-2 500 -3.0 1
v Q8 v A96 5CXN-3 -500 -9.0 1 v K98 I v T75
* AQJ73 *2 ¢ 985 ¢ A74
& 52 & T874 » AQ53 & KJT642
®IVABN 4,5 oo VAN 4 TI76432
N 123~1 v KJT7432 N ~~~2~ yAJ2
S 123~1 ¢T95 S ~~~2~ ¢JT6
E ~~~3~ &9 E5~~~4 &
W ~~~3~ W 5~~~4
#3 » KJ6 2CS-150 Mean: 2CS-1 50 00 5 ||#4 » J8 4S5S4 -620 Mean: 5CXE-3 800 4.0 1
v AT732 2CS-150 -50  3NXS-1 4100 20 1 v K54 3NN4 -630 650 4SS5 650 0.0 1
.97 Dif: 0 NS:0 ¢ JT542 Dif: 10 NS:-1 4SS4 620 -1.0 3
& 942 IMP: 0 EW:0 & Q97 IMP: 0 EW:1 3NN4 630 1.0 1
& 8752 & AQT a K7
v KQ9 v J865 + v38
¢ AQT4 ¢ 532 + Q86
& 76 a T53 » AKT8654
oo VABN 4943 N o AQT953
N1~~~~vd 5 v AJ7
S 1~~~~ ¢KJB86 5 ¢ AK9
E ~3331 &AKQJ8 ~ adJ
W ~3331 ~
#5 » KQJ8 2SS3 -140 Mean: 2SS4 170 20 1 #6 4 K9763 4HW5 650 Mean: 6HW-1 100 13.0 1
v T72 2SN2 -110 100  2SS3 140 1.0 3 v 65 4HW5 650 -720 3NE4 630 3.0 1
+ Q75 Dif: -30 NS:0 2SN2 110 0.0 1 ¢ T2 Dif: 0 NS:2 4HWS5 650 2.0 2
» T92 IMP: -1 EW:-1  3SN-1 100 50 1 » T642 IMP: 0 EW:-2 5CXN-5 -1100 -9.0 1
s A6 s T4 a A82 & QJ5 6HW6 1430 120 1
v QJ8 v 9643 v AKQ74 — v T832
+ 98643 *AJ + AK83 * 95
& Q73 & AJ865 Q » K873
o4 VBN 497532 oOVABN o, T4
N ~~~21 vAK5 N ~~~~~ J9
S ~~~21 ¢KT2 S ~~~~~ + QJ764
E 211~~ aK4 E ~~5~3 &AJ9
wW211~-~ W ~~5~3
#7 o J96 5SXS5 -850 Mean: 7CXE-4 1100 10.0 1 ||# 8 & AKJ5 3NS-4 200 Mean: 4CS4 130 30 2
v T83 5585 -650 650  5SXS5 850 50 1 v6 3HE-1-50 40 4CN4 130 30 1
+ QT53 Dif: -200 NS:0 5SS5 650 0.0 2 + QJ52 Dif: 250 NS:0 3HE-1 50 00 2
& K65 IMP: -5 EW:-5 5CXW-2 500 -40 1 & A754 IMP: 6 EW:6 3NS-4 200 6.0 1
a7 ~ 8432 5CXW-1 200 -100 1 |[|s QT76 ~ 832
v K94 + v QJ52 v 754 v AKQ932
+ K876 ¢ ¢ AT84 * 73
& AQJ93 S » T8742 » 62 » K9
% ¢ VAN o, AKQTS oo VAN 4,94
N ~4~42 vA76 N 42~~~ ¢JT8
S ~4~32 ¢AJ942 S 42~~~ ¢ K9%
E4~~~~a E ~~1~1 &QJT83
W4~~~~ W ~~2~1
#9 & AK98 3NN4 -430 Mean: 3NN6 490 3.0 1 # 10 4 T8632 1NE4 180 Mean: 1NE4 180 80 1
v T9532 3NN4 -430 390 3NS5 460 20 1 v 985 3NE3 600 -540 3NE3 600 -2.0 3
*J4 Dif: 0 NS:1 3NS4 430 1.0 1 ¢ 93 Dif: -420 NS:-2 3NE4 630 -3.0 2
» Q3 IMP: 0 EW:-1 3NN4 430 1.0 2 & Ad42 IMP: -9 EW:-8
& QJT65 a2 2DS5 150 6.0 1 ||a KQ7 » A94
v Q86 v AJ74 v AQT7 _I_ v J64
¢ 73 + 9865 + 8762 + AQ5
& 964 » K872 » 87 » QJ93
F*¢VABN 4,743 o ¢VABN 4 J5
N ~5~44 9K N ~~~~~ v K32
S ~ 5~ 44 ¢ AKQT2 S ~~~~~ * KJT4
E ~~~~~ & AJTS5 E ~23~3 &KT65
W ~~~~~ W ~22~2
# 11 » 532 2HE2 110 Mean: 2CE-4 200 60 1 ||#12 » K43 4HS-1100 Mean: 4HS4 620 11.0 1
v A5 2HE2 110 -50 2HE2 110 -20 5 v Q954 4HS4 -620 100  3HN3 140 10 2
+ AKQ6 Dif: 0 NS:-2 + A9 Dif: 720 NS:11  4HS-1 100 -5.0 1
& KQ82 IMP: 0 EW:2 & AK62 IMP: 12 EW:5 4HN-1 4100 -5.0 1
& AQT6 ~ K8 ~ AQJ962 a5 3HN-1 100 -5.0 1
v KT92 v J864 v K | v 86
¢ 982 ¢ J74 + QJ86 ¢ K7532
& 54 » AJ97 & JT » Q8753
B VAN ,J974 oo VAN o, T87
N ~~~~~ v Q73 N ~~3~3 v AJT732
S ~~~~~ ¢ T53 S ~~3~3 ¢T4
E ~~2~1 &T63 E 13~1~ a9
W~~2~1 W 13-~1-~
#13 & KJ8732 4HW-1 -100 Mean: 4SXN4 790 11.0 2 ||# 14 4 AJ952 5CW5 400 Mean: 5CW5 400 1.0 1
w7 4HE4 620 210  4HW-1 100 -30 3 v J86 3NE3 400 -430 3NE3 400 1.0 1
+ QT982 Dif: -720 NS:-13 4HE4 620 -13.0 1 + K97 Dif: 0 NS:1 3NE4 430 0.0 2
»3 IMP: -12 EW:3 » J8 IMP: 0 EW:-1 3NE5 460 1.0 1
Q96 \ a AT & Q743 & K86 3NE6 490 20 1
v AQ843 v K965 v K74 v ATS
5 + + K76 * JT2 + AQ
& Q975 &» KJT6 » QT4 & AK753
¢ VABN 4,54 FOVABN ,T
N ~4~3~ 9JT2 N ~~~~~ v Q932
S ~4~3~ ¢AJA3 S ~~~~~ + 86543
E 3~3~~ 4A842 E 5~~35 4962
W 3~3~-~ W 5~~35




